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UNIT - I (PROSE)
I. A. Answer the following in a Word/Phrase/Sentence each: (5x1=5)
1. What does the author mean by enjoying herself in the lesson "The key to
Courage'?
Give any one reason to justify Kalam’s idea that India is a developed nation.
Why did the narrator go to the mosque everyday in the short story “A
Handful of Dates"?
Chess originated in _______ (Persia, Spain, Europe, none of these).
A good story teller is able to repeat the story over and over again and still
make the story to the listeners.
(relevant, fresh, intense, emotional, moral)
B. Answer any FOUR of the following questions in 100-150 words each:
(4x5=20)
1. According to the author fear is a valuable asset. Explain.
2. How does Kalam contrast the media in Israel and in India?
3. Why did the grandfather dislike Masood? What was his opinion of him?
4. What decides the outcome of a game of chess?
5. Write a short note on stories told in Gikiyu with human beings as main
characters.
UNIT - 1I (POETRY)
II. A. Answer any TWO of the following in about 100 - 150 words each:
(2x5=10)
1. How does the poet provide a twist to a mundane situation in the poem “The
Telephone Call”?
2. Analyse the theme of the poem “*Goodbye Party for Miss Pushpa T.S.
How does the poem “Digging” address the theme of family heritage?
4. Comment on the collective money madness as described in the poem “"Money
Madness”.
B. Answer any TWO of the following in 100 - 150 words each:
Annotations. (2x5=10)
1. And if I have no money, they will give me a little bread,

So I do not die, . _
But they will make me eat dirt for it,
I shall have to eat dirt, I shall have to eat dirt

If I have no money
Contd...2
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2. When old age shall this generation waste,

Thou shalt remain, in midst of other woes
Than ours, a friend to man, to whom thou say’st,
“beauty is truth, truth beauty, _____that is all
Ye know on earth, and all ye need to know
3. “I'said I just .... I can't believe it!
They said ‘That’s what they all say’.
What else? Go on, tell us about it”
I said ‘I feel the top of my head
Has floated off, out through the window,
Revolving like a flying saucer’
4. You are all knowing, friends,
what sweetness is in Miss Pushpa
I don't mean only external sweetness
but internal sweetness.
Miss Pushpa is smiling and smiling
even for no reason but simply because
she is feeling.

UNIT - III (Drama)

III. A. Answer the following in a word/phrase/sentence each: (5x1=5)
1. What, according to the mother, has made her daughter Anna strong?
2. According to the stranger, life in the country side is when compared
to life in the big town.
a) Beautiful b) Boring c) Busy d) Easy

3. Why is the stranger travelling round the country side?
4. What plan do Anna and her mother have to dispose of the stranger’s body?

5. “From the events in the play, we understand that Anna, the daughter, has no
lovers”. True or False?

B. Answer any TWO of the following in about 200 words each: (10x2=20)

1. The plan to murder the stranger does not work out very effectively. What aré
the problems that come up and how is it finally executed?

2. The mother and daughter act as typical foils to each other; complementing
and contradicting simultaneously. Discuss their characters as women of 2
kind, separated by an illusion of age.

3. Poverty is a dominant motif in the play Lithuania. How does it contribute t©
the tragedy?

4. The fatheris portrayed as rather weak, henpecked and a drunkard. How do€®
the playwright create this impression? Answer with reference to the play-

cOntd---3
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UNIT - IV (Grammar and Writing Skills)

1v. A. Add suitable question tags to the following:

She rarely goes to the market ___ 7

Your fatherisadoctor >

(6x1=6)

You can’t do the sum ?
He has promised to help you ?
They are bathing well ?

L A S A

Suraj cooks well ?

Paraphrase the following passage in about 150-200 words: (6)
Now can still Evening on, and Twilight grey

Had in her sober livery all things clad.

Silence accompanied - for beast and bird, e e
They to their grassy couch, those to their nests, (5140 LEG "-‘i(
Were slunk all but the wakeful nightingale; | . o

She all night long her amorous, descant sung

[y

Silence was pleased. Now glow’d the firmament
With living sapphires. Hesperus, that led

The starry host, rode brightest, till the moon.
Rising in clouded majesty at length.

Apparent queen, unveil'd her peerless light,
And o‘er the dark her silver mantle threw.

C. Rearrange the jumbled sentences into a coherent paragraph: (6)
It is easy to allow oneself to be carried away by resentment and hate into an
act of vengeance but it takes a strong character to restrain those natural
passions. Forgiveness may even turn a foe into a friend. The man who
forgives an injury proves himself to be the superior of the man who wronged
him and puts the wrong-doer to shame. To forgive an injury is often
considered a sign of weakness; it is really a sign of strength.

D. Use the following details to write a cover letter and a Resume. (6)

1. Mr Ramesh Kumar wants to apply for a job of a technical assistant in a
company manufacturing valves for boilers. The address of the managing
director is: The Managing Director, Nandi Valves and Boilers, Borivili,
Mumbai.

E. Write a refutation choosing any ONE of the following topics in about
150 words: 83

1. Teenage is the best age.

2. Honesty is the best policy.

3. Man is the maker of his destiny.
3 3 A K K K kK K ok ok Kk
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atrocities that created anger and hatred among the villagers that forced

them to join the movement.
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PART - A
(Prose and Short Stories)

Answer the following in about 150 words each: (5x2=10)
How is the story “The Noble Bachelor” a comment on the stark differences
between Victorian and American approach to society?
How are the themes of death and situational humor expressed in the story
“The Undertaker”.
Answer the following in about 300 words: (10x1=10)
How does the story of the Undertaker provide the reader with an insight into
the plight of the pelting class?

PART - B

(Drama)
Answer the following in about 150 words: (5x2=10)

Give instances from the play “Dance like a Man” where vishwas feels out of
place in the dancer’s family.

Discuss how the lack of commitment towards Shankar affects the parents in
the play “Dance like a Man”.

Answer the following in about 300 words: (10x2=20)
Justify the title “Dance like a Man”.

“Our actions are shaped according to the society”. Explain with reference to
the play "Dane like a Man".

PART - C
(Discursive writing)
Answer the following in about 150 words: (5x2=10)

Write a short note on the functioning of Naxalites or a Maoist in the words of
Arundhati Roy.

What are the different atrocities faced by the Naxalites and Maoists across
India? Narrate few incidents quoted by Arundati Roy in walking with the
comrades.

Answer the following in 300 words: (10x1=10)
Bring out a few incidents or stories narrated by Arundhati Roy about the
atrocities that created anger and hatred among the villagers that forced
them to join the movement.

Contd...2
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PART - D
(Grammar and Writing Skills)
1. Write an argumentative essay on: (1x10=19)

1. “Should nuclear weapons be outlawed worldwide”.

II. Correct the errors in the given sentences: (Sx1=5) ’
a. He jumped a ten feet wide ditch
b. I neither know the name of the author, nor the bookseller I
C. He was the man whom I taught was very poor. 5
d. Ihireda housekeeper whom I met at my mother’s new house.

e.

They have managed to make a good life themselves.

III. Frame questions to get the underlined words as answers: (5x1=5)
Peter runs with his dog on Sundays

Laura is tall, slim and beautiful

The lake is three meters deep

No, he wouldn't study at Eton

It's cold and foggy

IV. Write a review in about 150 words for the movie “Great Debators”,

® 8 0o e

(1x5=5)

V. Mr. Sen is the Chief guest for the college Union Inaugural. Prepare a

brief introduction of Mr. Sen. (1x5=5)

3 3 3k ok 3K %k ok o ok k X




(2016 batch onwards)

G 150.4 Reg. No. | l | |

St Aloysius College (Autonomous)

Mangaluru
B.A./B.Sc. /B.Com. Semester IV - Degree Examination

April - 2018
FRENCH

Time: 3 hrs. Max Marks: 100

b)
c)
d)
e)

8)
h)
)
)

e

Complétez le texte utilisant le passé composé, imparfait,et le futur.
10x1=10
“J'(commencer) 2 travailler avant-hier 3 I'agence d'Immobilier. Le premier jour, le
patron m’(recevoir). J'(&tre) un peu inquiet mais il (&tre) trés gentil avec moi. Il
m’(expliquer) I'organisation du travail.
Ce matin, avec un collégue, nous (aller) visiter une grande maison. C'était des
Italiens qui la(louer) mais ils sont renters dans leur pays.
Demain, je (passer) la journée avecc une cliente qui travaille dans une ambassade

et qui (vouloir) trouver un appartement rapidement. Nous (visiter)plusieurs
appartements.
TR T YT

ATl
HUE

lisez le texte et répondez ‘ 10x1=10
BOB MARLEY OU LE REBEL...

Un destin exceptionnel pour cet artiste sorti des ghettos de Kingston... C'est aujourd'hui
le symbole universel du Reggae. Partout sa musique est jouée, ses disques s'écoutent
toujours et les ventes ne s'arrétent pas. Au Brésil, dans les canyons de I'Arizona, comme
dans le bush australien, des communautés lui consacrent un culte, dansent sur ses
rythmes... Le reggae n'explique pas tout. Bob Marley n'était pas un artiste comme les
autres. Il possédait ce que I'on appelle du charisme. Il était musicien mais se considérait
surtout comme le messager d'une nouvelle religion, le rastafarisme. La foi fut I'axe
essentiel de sa vie mais aussi le centre de son oeuvre.

Il n'est pas un probléme, de la crise financiére a I'écologie, de la famine 3 la
pauvreté, qu'il n'ait pas évoqué dans ses textes. Bob Marley faisait danser les gens en les
aidant a prendre conscience de certaines choses de la vie de tous les jours. Dans I'une de
ses premiéres créations, il se définissait comme un 'rebelle de I'sme’". Il n'eut de cesse
d'assumer cette rébellion, d'en payer le prix, pour devenir I'un des derniers héros
universels du XXe siecle...

Qui est Bob Marley?

Ou est —il né?

Comment appelle-t-on la musique il a créée?
Comment est-il considéré?

Comment se définissait-il?

Comment s’appelle mouvement créé par Bob Marley?
Qui consacre un culte en sa favour?

Qu’est-ce qui n’est pas évoqué dans ses texts?
Connaissez — vous ses chansons les plus célébres?

Connaissez —vous d’autres chanteurs de reggae?

Contd....2
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V.

Répondez six questions au choix A0%6=60
Parlez de la période de la renaissance. Qui sont les grands peintres de cette période?
Quelles sont leurs grandes réalisations?

Quelles sont les qualités, un chef d’entreprise doit avoir?

Qui a inventé la cinématographie? Ou, quand et comment?

Quel image portez-vous de la France? Parlez les conditions de travail en France?

Quel metiers aimeriez-vous faire plus tard?

Comment voyez-vous le systéme économique en Inde?

Expliquez le comportement étrange de la rose?

Ecrivez le dialogue au choix 10x1=10
Vous avez prété votre appartement & un(e) ami(e). Quand vous chez vous, vous trouvez
le fauteuil cassé, les plantes mortes etc. Vous demandez des expliquations. Votre ami(e)
raconte et s’excuse.

Ou

Vous allez faire une grande surprise aux parents pour leur anniversaire. Vous discutez
avec un(e) ami(e).

Ecrivez la lettre 10x1=10

Vous avez obtenu une bourse pour faire un stage chez Go Sport en France. Vous étes trés

excité(e). Vous exprimez votre joie, doute etc. 3 um(e) ami(e).
3k 2% 3k ok ok ok ke ok
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v) Amount payable to A is to be transferred to his loan account.
Prepare Revaluation A/c, Capital A/c and Balance Sheet of B & C.
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FINANCIAL ACCOUNTING - IV
Time: 3 Hours Max. Marks: 100

SECTION - A
Answer any FIVE of the following: (5x2=10)

1. Write a note on Sacrifice Ratio.

2. What is Revaluation A/c? Why is it prepared at the time of Admission of a

Partner?
3. What do you mean by piecemeal distribution of cash?
4. State the principles of the case ‘Garner Vs Murray’.
5. State any four circumstances under which a partnership firm gets dissolved.
6. State the main objective of AS 21.
7. What are super profits? How is goodwill inferred under super profits
method?
SECTION - B
Answer any FOUR of the following: (4x12=48)

8. Explain the accounting procedure involved in amalgamation of firms. State
the journal entries for transfer of assets, liabilities and capital in the books
of amalgamating firms and amalgamated firm.

9. A, B and C were partners sharing profits in the ratio of 4:3:3. Their Balance
Sheet as on 31.3.12 was as under:

Liabilities 4 Assets 3 '
Capitals: Buildings 18,000 |
A| 16,000 ?

B 12,000

C| 10,000
Reserve 5,000 | Plant 14,000
Bills Payable 2,000 | Furniture 4,000 |
Creditors 8,000 | Stock 10,000 |
Debtors 7,000 7
(-) RBD 1,000 6,000 |
[ |cash | 1,000
~ [sso00f [ 53000]

A retires on that date on the following terms:
i) The goodwill of the firm is to be valued at ¥ 7,000.
ii) Stock and Buildings are to be appreciated by 10%.
iii) Plant and furniture are to be depreciated by 10%.
iv) Provision for bad debts is no more necessary.
v) Amount payable to A is to be transferred to his loan account.
Prepare Revaluation A/c, Capital A/c and Balance Sheet of B & C.
Contd...2
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10. M, N and 0 ar

€ partners sharing profits and losses in the ratio of 5:3:2.
Following is th

eir B/S as @ 31.3.12 when they decided to dissolve the |

business,

i __H@Pilrtlés Assets T
Creditors 40,000 | Premises 40,000
_M’s loan 10,000 | Plant 30,000
Reserves 20,000 | Stock 30,000
Capitals: M l‘Sb,Tcﬁ“ Debtors 60,000
. N 15,000 | cash ' 20,000
(S o 45,000 ‘ ]
.r_ﬁ h‘,\jl,\so,o'o‘o”' " 11,80,000

It was agreed to distribute the amount due to partners as and when the
assets were realized,
1% Feb 2013 - 230,000 1% April 2013 - 2 73,000 1% June 2013 - R 47,000
Prepare statement showing the distribution of cash, under proportionate
Capital method.
11. A and B are the Partners sharing profits and losses in the ratio of 3:2 took
out Joint life policy on 15.01.2007 for Z 20,000 for 20 years. The annual
Premium is 2 1,000 being payable by the firm. The firm closes its accounts

on 31/12 every year. The surrender value of the policy for the first 5 years
was as follows:

' Year Surrender value
)
2007 _—

12008 | 200

2009 550 |
| 2010 | 780 -
2011 900

B died on 10.2.11 and the claim on the policy was collected on 15.3.11.
Prepare Joint Life Policy A/c and Joint Life Policy Reserve A/c.

12. X, Y and Z sharing profits and losses in the ratio of 3:2:1 had their Balance
Sheet on 31.12.13 as follows:

___Liabilities | 3 ' Assets T
Creditors 2,00,000 | Cash 9,500
'B/P | 50,000 Stock 1,55,000
(X'sloan | 60,000 | Debtors 3,20,000
| Reserve fund | 1,20,000 | Furniture 50,000
P/LA/c | 60,000 Plant | 2,10.000
"Capital 1 X ©2,00,000 | Z's capital | ‘56000

Y] 1,50,000) Goodwill | 39,500
% B 840000 . 8,40,000 |

The firm was dissolved. The amount realized as follows:
Stock ¥ 1,22,000 ; Debtors ¥ 3,05,000; Furniture 2 42,000
Plant was taken over by X @ ¥ 1,80,000.

Realisation expenses amounted to ¥ 6,000.

Z is insolvent and ¥ 18,000 is recovered from his estate.
Prepare necessary accounts to close the books of the firm.

Contd...3
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13. Raghu and Ravi are in partnership with 3:1 as their profit sharing ratio. The
balance sheet of the firm is given below:

e —

Liabilities 4 Assets T |
Creditors 14,000 | F. Assets __E@
Reserve 6,000 | Stock 11,000 |
Capital: Debtors 18,000
Raghu 24,000 | Cash 2,000

Ravi 8,000
52,000 ' 52 000

NIFIOI‘I Ltd agreed to take over the whole business (except cash and debtors)
for ¥ 45,000 which it pays ¥ 40,000 in shares and balance in cash. Raghu

took over debtors at ¥ 15,000. Pass necessary Journal Entries to close the
books of the firm.

SECTION-C
Answer any TWO of the following: (2x16=32)
14. C and D are partners in the firm sharing profits and losses equally. On
31.12.2010 their balance sheet stood as follows:

Liabilities z Assets 3
Creditors 70,000 | Stock 1,05,000
B/P 50,000 | Debtors 1,41,500
G. Reserve 50,000 | Furniture 7,500
C’s Capital 1,00,000 | Investments 10,000
D’s Capital 50,000 | Cash 56,000

3,20,000 3,20,000

E is admitted into the firm on the following terms: n -
i) To write off bad debts amounting to ¥ 5,500. I ks e Lhik
i) To write down furniture by 10%. ! oy

iii)To depreciate stock by 5,000 MAL RE-575 002 |

iv) To provide for outstanding legal charges ¥ 4, 750
v) E to introduce ¥ 50,000 as goodwill and ¥ 2,00,000 as his capital for a
fifth share in the profit.
vi) To adjust the capitals of C and D according to the new profit sharing
ratio based on the capital of E, through current accounts.
Prepare necessary accounts and show the Balance Sheet after E’s admission.

15. A, B and C share profits and losses of a business as to 3:2:1.
Balance Sheet as at 31.12.10

Liabilities (4 Assets T

Capital A/cs: Goodwill 10,000

A 70,000 | Machinery 2,56,000

B 80,000 | Furniture 40,000

C 43,000 | Investments 18,000

Reserve 22,000 | Loose tools 7,000

Mrs. A's loan 15,000 | Stock 18,000
Creditors 96,000 | Debtors 40,000

(-)RBD 2,000 38,000

B/P 14,000 | Cash 13,000

Bank OD 60,000
4,00,000 4,00,000
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- lled Bloom
The business of the firm was converted into a limited company <@
Co. Ltd on the above date on the following conditions.
i) The company to take over all assets (except cash an

their book values. .
i) The company to take over only bills payable and bank overdraft.

d goodwill) at

iii) A agree to pay his wife's loan.

iv) Creditor's were paid T 90,000 in full settlement.

V) Realisation expenses paid by the firm ¥ 15,000.

vi) The Purchase Consideration is payable by the company as follows:
1000 equity shares of T 100 each and balance in the form of cash.

Show necessary ledger accounts in the books of the firm.

16. Arun, Varun and Kiran were partners in the firm sharing profit and loss in the
ratio of 3:2:1 respectively. Due to extreme competition it was decided to
dissolve the partnership firm on 1.1.07 on which date the balance sheet
stood as follows:

Liabilities Z 7 Assets 3

Capital: Fixed Assets 1,79,800

Arun | 1,13,100 Investments 5,400

Varun 35,400 Stock 97,700

Kiran 31,500 | 1,80,000 | Debtors 56,400

Current A/c Cash @ Bank 29,700

Arun 26,400 Varun's current A/c 18,000
Kiran 6,000 32,400

G. Reserve 1,08,000 ]

C’s loan 15,000
Creditors 51,600

3,87,000 3,87,000

The assets were realized as follows:
April 15, 2007 - ¥ 51,900

April 29 -%¥1,39,500
June 2™ - ¥18,000
June 25™ - ¥6,300
Aug 6™ - ¥96,000

Dissolution expenses amounted to ¥ 9,600 and were paid out of cash realized

on June 2™ 2007. The partners decided that after creditors were paid for

¥ 50,400 (in full settlement of their claims) and C’s loan, all cash received

should be distributed as and when realized.

You are required to show a statement showing the distribution of cash.
SECTION - D

Answer the following: (1x10=10)

17. Write a note on
i) Joint and several life policies

i) Difference between LLP and company.
3¢ e ok ok ok ok o ok ke oo ok
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PRINCIPLES OF FINANCIAL MANAGEMENT
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SECTION - A

Answer any FIVE of the following.
What is Receivables Management?
What is meant by cost of capital?

State the meaning of Sensitivity Analysis.
What is factoring?

(5%x2=10)

State any two objectives of Financial Management,
What is operating cycle?

—y

How do you calculate financial leverage?

SECTION - B AL
Answer any FOUR of the following. (4x12=48)

Define Financial Management. Explain the scope of Financial Management
under Traditional Approach.

What is Factoring? Explain the advantages and disadvantages of Factoring.
The return of the stocks of 'SKS’ Ltd. during 5 year period are given below:

Return on 'SKS’ | Return on Nifty | Return on Sensex
18 16 19
\ 14 13 16
16 15 13
i 13 12 14
" 9 4 18

Calculate Alpha and Beta of ‘SKS’ Ltd taking Nifty and Sensex as market
return.

A company has sales of Rs.2 lakh. The variable costs are 40% of sales while
the fixed operating costs amounts to Rs. 60,000. The interest burden on debt

is ¥20,000. You are required to calculate operating, financial and combined
leverage and illustrate its impact if sales decreases by 10%.

A company has 10% perpetual debt of X1 lakh. The tax rate is 30%.
Determine the cost of debt assuming the debt is issued at -

a) par b) 10% discount c¢) 10% premium

Contd...2
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Vedanta Ltd. presents the following facts.

Sales (Rs.10 per unit) 20,000 units
Material cost ¥4 per unit
Wages T2 per unit
Fixed cost 10,000
Capital employed %1,00,000

Calculate RO! for the following situations. Also calculate range of ROL.

i Material cost goes up by 25%.
li.  Labour cost goes up by 20%.
ill.  Sales declining by 20%.

Iv.  Fixed cost increases by 25%.

SECTION - C
Answer any TWO of the following.
a) Describe the role of financial manager in the changing scenario.

(2x16=32)

b) Explain the patterns of capital structure.

ABC Ltd. needs ¥14,00,000 for expansion. The expansion is expected to yield
an annual EBIT of %3,50,000. In choosing a financial plan, ABC Itd has an
objective of maximizing earning per share. It is considering the possibility of
issuing equity shares of ¥100 each or raising debt of 22,50,000 or ¥3,00,000
or ¥6,00,000. Funds can be borrowed at the rates indicated below.

a) Upto and including 2,50,000 -15%.

b) Over ¥2,50,000 and upto ¥3,50,000 - 16%.
c) Over ¥3,50,000 - 18%.

Assume tax @ rate of 30%.

Determine the best option based on EPS.

a) A firm is desiring to follow a stricter collection policy. The following
details are available.

i. At present the firm Is selling 18,000 units on a credit price of 764
each, the variable cost per unit is 50, While the average cost per
unit Is ¥58. Average collection period Is 58 days and collection
expenses amounts to ¥5,000. Bad debts are 3%,

ii. If collection efforts are tightened, additional collection charges
amounting to ¥10,000 would be required. Bag debts will be 1%
Collection period will be 40 days, sales volume s likely to decline

by 250 units. Assuming 20% rate of return on investments, what
would be your recommendation?

Contd...3
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b) Sihur gain Ltd. has equity share capital of ¥8,00,000, preference shares
of 24,00,000, Reserves and surplus 26,00,000, Debentures to the extent
of 23,00,000 and Long term loans from IFCI Ltd. ¥15,00,000. It has
¥3,00,000 as Miscellaneous expenditure on the asset side. Calculate the
Debt-equity ratio.

SECTION - D
Answer the following: (10
17. Bitz Co. Ltd. furnishes following information for the year 2017.

Production - 69,000 Units
Finished goods in store - 3 months
Raw material in store - 2 months
Production process - 1month
Credit allowed by creditors - 2 months
Credit given to debtors - 3 months ) ) )
Selling price per unit - I50 ' '
Raw materials - 50% of selling price k - / ) :
Direct wages - 10% of selling price '~ = . .
Overheads -

20% of selling price

There is a regular production and sales cycle. Wages and overheads
accrue evenly. Wages are paid in the next month of accrual. Materials are
introduced at the beginning of the production cycle.

Calculate working capital requirement and prepare a statement.

o ok ke ok ok ok o ke ok ok
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SECTION - A

Answer any FIVE questions

L.

2
8.
4
3

10.

What is meant by grossing up of interest?

(5x2=10)

Give the meaning of clubbing of income.
Mention the tax rates applicable to senior citizens for the Assessment Year 2018-19.
What is the cost of acquisition of : a) Bonus shares b) Rights shares
Explain the deduction allowable under section 80 DD for the Assessment Year
2018-19.
State the rates of depreciation on the following assets. [ o won
a) Books b) Motor cars used in running them on hire. ;
What are Long Term Capital Gains? How do you compute them? | =
SECTION -B
Answer any FOUR questions (4x12=48)
Explain exemption from tax on capital gain under section 54F and 54G.
Explain the concept of
a) Bond washing transaction
b) Tax free commercial securities and less tax commercial securities.
Ashok is a leading lawyer of Mumbai. He maintains books of account on cash system.
He deposits in the bank all the receipts and always pays all the expenses by cheque.
The analysis of his bank account for the year ending 31-03-2018 is as under:
h 2
| Balance b/d 58,340 Salaries 14,000
' Professional fees 3,90,000, Rent of chamber 9,500
"Dividend 7,160 Telephone expenses 1,000
' House Rent 22,500{ Magazine subscription 3,000
' Income from Horse Race 10,000 Motor car expenses 28,000
{ (net) ;
Share of income from HUF 7,1 lO Mlsccllancous office expenses 5,506
[ Purchase of motor car 2,00,000
’ Advancc payment of income tax 40,000
Donauon to Mumbal | university 10,000
" Personal Fxpt.nses - 1,45,500
’ House Property Expenses: T
Taxes 5,000 l
I Repairs 1,500 |
Insurance 1,500 ;
| _Collection charges _2.000 | 10,000
Balance c/d R 2§“61(f
— Total | 495,110 Total 495,110

Contd...2
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. ) . ing information:
Compute his total income after taking into account the following 1

a)

1 . ;
2 th of the motor car expenses relate to personal use.

b) Rate of depreciation on motor car is 15%

ich is
¢) Mr. Ashok stays in the house, the gross annual value of which |
en included in the above account In

Z 9,800

The following are the expenses which have be
respect of this house:
Insurance premium ¥ 500; Municipal taxes ¥ 2,400
11.  Naveen Ltd furnishes you the following information:

Block I : Plant and machinery (consisting of 3 plants), rate of depreciation 1
annum. WDV on 1* April 2017 was ¥ 2,50,000

0% per annum. WDV on

5% per

Block II:  Buildings (two buildings), rate of depreciation 1
1** April 2017 was  6,00,000.

Acquired on 2™ June 2017, 2 plants for Z 2,00,000. Sold on 30" November

2017, all the five plants for ¥ 4,50,000.

Acquired on 15™ December 2017, two new plants for ¥ 1,50,000 for its production
department.

Admissible rate of depreciation in relation to all acquired plants is 15% per
annum. Additional depreciation on new plant is admissible.

Compute the amount of admissible depreciation claim of Naveen Ltd for the
Assessment Year 2018-19.

12. Mr. Prashanth furnishes the following particulars of his income for the previous year

2017-18. Compute his income from other sources.

a) Dividend on equity shares from domestic companies %6,000
b) Dividend on preference shares from domestic companies ¥3,500
c) Income from letting on hire of building and machinery under

one composite lease ¥ 27,000
d) Interest on bank deposits (net) T 12,600
e) Director’s sitting fees received % 12,000
f)  Ground rent received Z 600
g) Income from undisclosed sources % 17,000
h) Winnings from lotteries (net) 3 28,000
i) Interest on post office savings Bank A/c % 6,000

The following deductions are claimed by him;
i) Collection charges of dividend 2200

i) Allowable depreciation on building and
machinery 24,000

iii) Fire insurance on building and machinery ~ 2 100
iv) Loss from owning and maintaining race horses 2 8,000

v) Interest on loan taken to buy the machinery and building leased out ¢ 5,000

Contd...3
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Shri Prakash furnishes the following particulars of incomes and losses for the

Assessment Year 2018-19.

.4
a) | Taxable income from salary | 4,50, ,000
b) Incomu from house > property ( E(Trﬁpﬂiéa ) _A: | 160,000
e o ~B: [ (-)4,10,000 |
¢) | Profits from readymade garments business before
| depreciation 1,40,000
' d) | Speculative profits ) - 10,( OOOﬂ
~¢) | Long term capital gam ] 24, 000
) | Short term capital gain - | 8,000 |
2) Share of profits from a firm T . 7.80 800
[h)_ Current It years depreciation _4_50Q
1) | Wmnmgs_fr% horse race (gross) 20,000
The following items are brought forward from the previous year 2016-17:

a) Unabsorbed depreciation T 5,000

b) Speculative losses T 15,000

¢) Long term capital loss T 15,000

d) Short term capital loss z 6,000
e) Loss from the activity of owning and maintaining

T 12,000

race horses

Compute gross total income for the Assessment Year 2018-19.

SECTION -

Answer any TWO questions

o

(2x16=32)

Following is the profit and loss account of Mr. Nithin for the year ending
31-03-2018.
4 T

To Salaries 3,30,000 | By Gross profit 5,50,000

“ Office expenses 36,000 | “ Bad debts recovered 15,000
(disallowed earlier)

“ Depreciation 28,000 | “ Refund of Income Tax 5,000

“ GST provision 18,000 | “ Dividend of Co-op 7,000
society

“ Legal expenses 16,000 | “ Dividend of domestic 5,000
Company

“ Income tax 14,000 | * Rent from house 18,000
property

“ Expenses on acquisition of 24,000

patent rights

“ Donation 4,000

“ Repairs 12,000

“ Provision for bad debts 6,000

“ General expenses 24,000

“ Net profit 88,000

Total 6,00,000 Total 6,00,000 |
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15.

16.

Additional information:

a)  Salaries include Z 12,000 paid to the workers employed at home.
b) Depreciation includes 2 6,000 being unabsorbed depreciation of earlier years.

¢) Legal expenses include ¥ 2,000 paid to the lawyer in connection with
personal case.

d) General expenses include 8,000 as contribution to staff welfare fund.

o th A e
e) Outof 218,000 GST provision, ¥ 15,000 was paid by Nithin on 6 April

2018. The necessary evidence of payment was submitted along with the
return of income.

Compute his total income for the Assessment Year 2018-19.
Mr. Natesh has the following investments/incomes in the Previous Year 2017-18.
a) ¥ 15,000 10% Central Government securities.
b) ¥ 1.08,000 10% tax free commercial securities.
¢) 30,000 13.5% debentures of Reliance Industries.
d) 25,000 14% debentures of Srinidhi Chemicals (listed).

e) ¥ 10,000 in Post office savings bank A/c which earns interest at 5% per
annum.

f)  ¥20,000 units of UTI (income received ¥ 2,000)
g) 9,000 as interest received on debentures of a local authority.
h)  ¥5,000 as interest received on Karnataka Government Bonds.
1) ¥ 6,000 as interest on tax free Government of India Bonds.
J) ¥5,000 dividend received from a co-operative society.
k) Interest on deposit under National Deposits scheme % 8,000.
On 15" November, he sold debentures of Reliance Industries at a profit of
¥ 2,000 and purchased % 50,000, 9% Indian Railway Bonds for 2 48,000. For
this purpose he borrowed % 20,000 from his friend at 10% per annum. The bank

commission for collecting the interest was  0.5% and for buying and selling the

securities 1% . Interest is payable on 1* July and 1* January every year,
Compute his income from other sources for the Assessment Year 2018-19.

Mrs. Suman , a college professor provides the following particulars of her income
for the Previous Year ended 31* March 2018.
a) Basic salary ¥ 27,000 per month.

b) She owns a house property and the same is let out
T 8,000. Municipal value of the house is
her amounted to ¥ 8,500 per annum.

On a monthly rent of
X 80,000. Municipal taxes paid by

c) She received R 3,000 dividend on listed shares of 4

) omestic companies
interest of ¥ 2,000 on bank deposits. P and
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d)  She received royalty @ 17% on turnover of books written for university
students. The turnover during the previous year was ¥ 4,55,500. Expenses
of ¥ 15,792 were paid in this connection.

¢)  She paid Life Insurance Premium of 710,000 (sum assured being ¥ 80,000
policy was taken on 15.4.2014).

f)  She gave the following donations:

a) Mangalore City Corporation for promotion of family planning ¥ 10,000
b) Prime Minister’s Drought Relief Fund % 5,000
¢) Prime Minister’s National Relief Fund ¥ 10,000
d) National Defence Fund T 2,000
Compute total income and tax liability of Mrs Suman for Assessment Year
2018-19.
SECTION-D
Compulsory question (10 marks)
17. Mr. Rajanikanth acquired 1,000 listed shares in January 2000 at a cost of
% 2 lakhs. The company allotted one bonus share for every 2 shares held in
March 2004. He sells 1,250 shares in April 2017 for a consideration of
Z 30 lakhs. The transaction is subject to Securities Transaction Tax.
Determine capital gain. FMV as on 1-4-2001 is ¥ 180 per share.

CII for 2001-02: 100, 2003-04: 109, 2017-18: 272.
3% 5K 3K 5 3 3K 5 K %k 5k X Xk
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COST ACCOUNTING II

Time: 3 Hours

Max. Marks: 100
SECTION - A '

Answer any FIVE questions: (5x2=10)

1.

What is Job costing? In which type of industries this system would be suitable?

. What do you mean by Economic Batch Quantity?

. What is meant by work-certified in contract costing?

2
3
4. What is meant by Inter-process profit?
5.
6
7

State any two differences between Budgetary control and Standard Costing.

. What is Kaizen budgeting?

. List any two advantages of cost Audit.

SECTION - B

Answer any FOUR questions: (4x12=48)

8.

9.

The following expenses were incurred on Job No. 555 of Sony Ltd.
a) Materials ¥ 30,000
b) Wages paid
A-40 Hrs, ¥ 8 per hour
B-50 Hrs, ¥ 9 per hour
C- 60 Hrs, % 5 per hour S
c) Works overhead of these departments were estimated as under:
Departments: A- 9,000 for 6,000 working hours
B -3 10,000 for 5,000 working hours
C ¥ 12,000 for 3,000 working hours
d) Office expenses were T 90,000 when total wages paid in all the three
departments came to ¥ 2,70,000.

It is the practice followed in the company to recover office overhead as a as
percentage of Direct wages.

You are required to calculate the cost of Job No. 555 and its price quoted
which would yield 20% profit on selling price.

Component ‘Bee’ is made entirely in cost centres 120. Material cost is X 6 per
component and each component takes 10 minutes to produce. The machine
operator is paid ¥ 7.20 per hour and the machine hour rate is ¥ 4.50. The
selling up of machine to produce component ‘Bee’ takes 2 hours and 30
minutes. On the basis of this information, prepare cost sheet -showing the
production and setting up costs, both in total and per component, assuming
that a batch of :

a) 100 components and
b) 200 components.

Contd...2
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10.

11.

12.

A certain product passes through two processes before it is completed. T:e
output of process 1 is transferred to process Il at a profit of 20% on the
transfer price and the output of process I is transferred to finished stock ata
profit of 25% on transfer price. There is no stock at the beginning or at the
end of the year.

The following data are obtained as on 31.3.2016

Particulars Process | Procesﬂ
Direct material | 10,000 -
Direct Labour | 10,000 14,000 J
Overhead 4,000 10,000

Sales of finished stock is at ¥ 1,00,000.
Prepare: 1) Process Accounts
2) Profit and loss Accounts
Cost incurred on contract No. 120 up to 31st March 2016 amounted to
31,50,100.
Cost of work certified ¥ 21,900
Contract price ¥ 4,00,000
Cash received on account ¥ 1,40,000 (80% of work certified )

The contractor wishes to take profit on this contract on estimation basis and
the following estimates were made:

a) That the contract would be completed on 30th November 2016.

b) That the further wages required would be X 71,500

c¢) That the further stores and Materials required in addition to those at site
on 31st March 2016 would be ¥ 68,600 (stores and materials at site on 31st
March 2016 ¥ 3400).

d) That the further plant and tools required in addition to those at site on
31st March 2016 would be ¥ 25,000 (Plant and tools at site on 31st

March 2016 T 6,200). Which would have residual value of ¥ 3,000 on the
completion of work.

e) That the establishment expenses cost X 800 pm

f) That 2% of total cost (including the percentage) would be charged as
provision for contingencies.

Prepare Contract No. 120 and find out the profit to be taken to the credit and
profit and loss account.

ABC Ltd is drawing its production plan for 2017 in respect of two of its
products Alfa and Beta. The policy of the company is not to carry any closing
Work in progress (WIP) at the end of any month.

However its policy is to hold a closing stock of finished goods at 509% of the
anticipated quantity of sales of succeeding month for the year 2017. The

company’s budgeted production is 20,000 units of Alfa and 25,000 units of
Beta. The following is the estimated cost data :

Alfa 3)

l Direct Material per unit =0
Direct labour per unit 20
Other manufacturing expenses 2,00,000

| Eggortioned in the ratio of production)

30
3,75,000

e
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13.

Answer any TWO questions:
14.

13,

Page No. 3
Ib_e_gaitimated units to be first 7 months of the year 2017 are as under:
___Alfa Beta

Jan 900 2900

Feb 1100 2900

March 1400 2500
April 1800 2100
May | 2200 1700

June 2200 1700
| July 1800 1900

Prepare a production budget showing month wise number of units to be

produced. Also prepare production cost budget for the half year ending 30"
June 2017.

What is a cost Audit? State and explain the essential features of Cost Audit.
SECTION -C

(2x16=32)
Product Exe passes through 3 processes namely Pi, P2, and Ps. The details of

expenses and other particulars of the 3 processes for the year 2017 are as
follows :

Particulars P1(®) P2R) P (3)
 Materials 10,000 15,000 5,000°
' Process wages 30,000 80,000 65,000

Chargeable expenses 6,000 18,150 27,200
' Selling price per unit of output 120 165 250
Sales value of scrap per unit 2 5 10
normal loss 5% 15% 20%
Actual output (units) 9,300 5,400 2,100

10,000 units at T 100 each were issued to P; process. 2/3 of the output of Py
and ¥ of the output of P2 process was transferred to next process and the
balance was sold. The entire output of Pz was sold. Management expenses
during the year were ¥ 80,000 and selling expenses were ¥ 50,000, which
were not allocated to the process accounts:
You are required to prepare:

1) process Accounts

2) Abnormal Loss/Gain account

3) Finished stock Account

Prajwal constructions Ltd. undertook a contract for ¥ 48 lakhs. The Trial
Balance for the year ending 31.03.2017 is as below :

Debit (%) Credit })

Share capital . 30,00,000
Sundry debtors and creditors 4,00,000 10,00,000
Contractee’s Account - 20,00,000
Bank 5,00,000 .
Land and Buildings 12,00,000 .
Expenses charged to contract no. 948 Account
Materials 16,00,000 o
Labour 12,00,000
Overheads 1,00,000
plant 10,00,000

B 60,00,000 |  60,00,000

Contd...4
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Followingadditional information is available :

Closing stock of materials at contract site ¥ 16,000

Materials returned to store ¥ 10,000

Plant costing ¥ 1,00,000 sold for T 92,000 31.03.2017

Plant returned to store costing ¥ 6,00,000.

Materials lost 2 6,000.

Plant last due to fire 20,000

Work certified 80% of contract price. .

Cash received on account till 31.3.2017 of 80% work certified
Depreciation on plant at 10% per year and building 5% per year.

CONOU A WN R

Prepare:

Contract No. 948 Account
Contractees Account

Balance Sheet as on 31.03.2017

16. The following information is taken from the books of a factory :
] Standard Mix Actual Mix
Materials Units FPri‘ce Amount Unit;; P(r?i;e Am(g;mt
(kgs) kgs
X as0 —G:}o mgooo ( 480 19| 9120
Y 350 15 5250 380 16 6080 |
Z 300 10 3000 340 12 4080
1100 1200
Standard loss 100 | Actual loss 100
(9.09%)
| Output 1000 1100 19280 |
Calculate:

a) Material cost variance
b) Material price variance
¢) Material usage variance
d) Material mix variance
SECTION-D
Answer the following question:
17. A company is expecting to have ¥ 25,000 cash in

requires you to prepare cash budget for the thre
The following information is supplied to you :

(1x10=1q)
hand on 1st April 2016 and it
€ months, April to June 2016.

/ Month Sales(X) | Purchases ) | wages R®) | Expenses ®)

| Feb 70,000 40,000 ggoo] 6,000

[ March 80,000 50,000 g0 7.000
- '—ﬁ‘_ﬁ_____ ’

| April 92,000 52,000 9,000 7,000
~—*———ﬁ_—h——m—-ﬂ—H——~——‘_J____ )

[ May 1,00,000 60,000 10,000 8,000
'—__\_‘—h_\_{__._ ’

| June 1,20,000 55,000 12,000 9,000

VYV |

Other information:
a) Period of credit allowed by suppliers two months
b) 25% of sale is for cash and the
for credit sale is one month;
c) Delay in payment of wages and expenses one month
Income tax X 25,000 is to be paid in Jupe 2016,

kg

Period of credit alloweq tq customers
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FUNDAMENTALS OF INFORMATION TECHNOLOGY

Time: 3 Hours Max. Marks: 100
SECTION - A
Answer any FIVE questions: (5%x2=10)
1. What do you mean by the super computer?
2. What is the function of the mouse?
3. How can you add a new slide to a presentation?
4. What is cell reference in MS-Excel?
5. List the different types of charts available in MS- Excel.
6. How to enter vouchers in Tally?
7. What is meant by networking?
SECTION - B
Answer any FOUR questions: (4x12=48)

8. Explain in detail about the types of computer system.
9. Explain various categories of functions in MS-Excel with examples.
10. Explain different types of formatting techniques in MS-Excel.
11. How could you prepare a Balance Sheet using Tally? Explain.
12. Explain in detail about different types of networks.
13. Explain the following features in MS-WORD.
i) Find and Replace
ii) Auto correct ‘
iii) Headers, footers and page break | s

SECTION - C
Answer any TWO questions: (2x16=32)
14. Explain in detail about the various types of storage devices in the computer
system.
15. i) Explain the procedure for adding animation effect and slide transition

effect in a power point presentation.
ii) How to insert, delete and move slides in a power point presentation?
iii) Explain the Pivot table and Pivot chart reports features of MS-Excel.

16. Explain different types of network topologies.

SECTION -D

Answer the Following: (1x10=10)
17. Pass the necessary journal entries and name the groups in Tally.

i) Mr. Rajeev started business with cash ¥ 5,00,000.

ii) Goods sold and received cheque ¥ 15,000.

iii) Cash deposited to SBI X 1,00,000

iv) Goods returned to Mr. Ravi, ¥ 1,000.

v) Wages paid ¥ 4,000, Actual wages X 5,000.

vi) Rent paid in advance ¥ 1,500.

vii) Depreciation charged 10% on furniture valued ¥ 20,000.

viii) Interest allowed by bank on their deposit ¥ 200.
ix) Interest on capital is 12%.

x) Commission received X 1,000.
kkkpkkkkkkkkk
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FOUNDATION COURSE IN GENDER EQUITY AND VALUE EDUCATION

Time: 3 hrs. Max Marks: 100

10.
11.
12.

1L
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PART - A
GENDER EQUITY

Answer any TEN of the following in just one sentence. (1x10=10)
Define gender.

What is Patriarchy?

Give the meaning of Gender Role.

Define mental health. on av s g ——
Expand MMR. _ v |
What is female infanticide? | LA I i
What is MTP ACT? .
What is the sex ratio at present?

Mention any two initiatives by the government to promote the rights of the girl
child.

Give the meaning of honour killing.
Expand AIDS.
Who is the present chairperson of Karnataka commission for women?

Answer any TEN of the following questions in about two sentences each.
(2x10=20)

What is Gender bias?

Differences between sex and gender.

What is reproductive health?

What is meant by domestic violence?

What is Gender division of labour?

What is Sarve Santhu Niramaya?

Define trafficking.

What is Zenana?

What is globalization?

What is NPC?

What is Bigamy?

. What is triple talaq?
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I N

Iv.

I

Answer any FOUR of the following questions in about twenty lines each.
(10x4=40)

Describe the characteristics of Matriarchal system.

Describe the political participation of women in India.

Describe the role of Christian missionaries in promoting education in India.

Briefly explain Alma Ata Declaration.

Explain the different constitutional rights of women.
Write a note on the functions of Karnataka state commission for women.

PART - B
(VALUE EDUCATION)
Answer any FQUR questions in about 8-10 sentences each. Each question
carries FIVE marks: (5x4=20)

What is meant by abortion? What are the post-abortion syndromes?
What is female foeticide? What are the reasons for female foeticide?
Explain Mahatma Gandhi’s views on women empowerment,

Write a short note on Euthanasia,
What are the early signs of mental illness?

Define suicide. What are the two main reasons for suicide?

Answer any ONE questions in about 20 sentences Each, The Question

carries 10 marks. (10x1=10)
What is stress? What are the causes and symptoms of stress?

Explain the commandments advocated for conquering depression.

o o o o o ok o ok o ok o ok o



